ELEMENTARY SCHOOL PERSONNEL

THE CHIEF SCHOOL ADMINISTRATOR RECOMMENDS THE FOLLOWING ELEMENTARY SCHOOL PERSONNEL TO THE BOARD OF EDUCATION:

2020-2021 Staffing

Recommend approval of the *rescission* of the appointment of <u>Taylor Ames</u>, (TLR.ES.LTRT.03.07), Elementary School Teacher of Elementary Education (long term replacement – 4594) from September 1, 2020 through on or about March 19, 2021 at Step 4 BA, \$55,800.00, pro-rated. (*previously approved on 6/16/2020*)

Recommend approval of the appointment of <u>**Taylor Ames**</u>, TLR.ES.ELEM.05.21, as a Teacher of Elementary Education, for the 2020-2021 school year at Step 4 BA, \$55,800.00, effective September 1, 2020.

Recommend approval of the *rescission* of the appointment of <u>Samantha Hagel</u>, (TLR.ES.LTRT.05.04), Elementary School Teacher of Elementary Education (long term replacement – 4673) from September 1, 2020 through on or about December 8, 2020 at Step 2-3 BA, \$54,500.00, pro-rated. (*previously approved on 6/16/2020*)

Recommend approval of the appointment of <u>Samantha Hagel</u>, (TLR.ES.LTRT.03.07), Elementary School Teacher of Elementary Education (long term replacement – 4594) from September 1, 2020 through on or about March 19, 2021 at Step 2-3 BA, \$54,500.00, pro-rated.

Recommend approval of the appointment of <u>Nicole Pichetto</u>, TLR.ES.LTRT.FL.09, as a Teacher of Special Education (long-term replacement 4734), for the 2020-2021 school year at Step 1MA - \$56,000.00 (pro-rated), effective September 1, 2020 through on or about January 29, 2021.

Summer 2020 Extended School Year

Recommend approval of the *rescission* of the following Summer 2020 appointments (*previously approved on* 6/16/2020):

STEM CAMP GRADES 2 AND 3	MARISSA MELILLO	\$50 per hour	10 days, 2 Hours Per Day and 4 Hour Total Prep
STEM CAMP GRADES 4 AND 5	ORIANA KOPEC	\$50 per hour	10 days, 2 Hours Per Day and 4 Hour Total Prep
STEM CAMP GRADES 6-8	ORIANA KOPEC	\$50 per hour	10 days, 2 Hours Per Day and 4 Hour Total Prep

DOCUMENT 4

Additional Compensation

Recommend approval of the following teachers to teach summer enrichment/summer skills classes at the rate of \$50.00 per hour:

Employee	Amount	Total
Taylor Ames	16 teaching $+ 4$ prep $= 20$ hours	20 hr x \$50.00 = \$1,000.00
Amelia Gliddon	16 teaching $+ 4$ prep $= 20$ hours	20 hr x \$50.00 = \$1,000.00
Brian McCann	16 teaching $+ 4$ prep $= 20$ hours	20 hr x \$50.00 = \$1,000.00
Jaimee McMullen	16 teaching $+ 4$ prep $= 20$ hours	20 hr x \$50.00 = \$1,000.00
Michael Pape	8 teaching $+ 2$ prep $= 10$ hours	10 hr x \$50.00 = \$500.00
Marc Reid	16 teaching $+ 4$ prep $= 20$ hours	20 hr x \$50.00 = \$1,000.00
Kristie Rosko	16 teaching $+ 4$ prep $= 20$ hours	20 hr x \$50.00 = \$1,000.00
Jason Snyder	8 teaching $+ 2$ prep $= 10$ hours	10 hr x \$50.00 = \$500.00
Andrea Trischitta	8 teaching $+ 2$ prep $= 10$ hours	10 hr x \$50.00 = \$500.00
Kimberly Ward	8 teaching $+ 2$ prep $= 10$ hours	10 hr x \$50.00 = \$500.00
Jessica Woytowicz	16 teaching $+ 4$ prep $= 20$ hours	20 hr x \$50.00 = \$1,000.00

Recommend approval of the following teachers to attend elementary school Ready Math Program Implementation Training for 3 hours each at the rate of \$30.00 per hour:

- Kristen Minutoli
- Meghan Dullea
- Cheryl Femenella
- Katie Kappy
- Christine Melfi
- Jessica Woytowicz
- Taylor Ames
- Michele Sayre
- Carmen Rodriguez
- Cindy Kirk
- Donna Mead
- Suzanne Deegan
- Danielle Romano
- Alyse Leybovich
- Justine Rotante
- Pamela Kelly
- Kali Sullivan
- Kindle Kuriscak
- Desiree Niemasz
- Christin Walsh
- Brianna Snel
- Andy Manser
- Cathy Taft
- Amelia Gliddon
- Samantha Hagel

Recommend approval of <u>Jill Wells</u> (District Occupational Therapist) for 5 additional hours of Elementary School assessments, evaluations, and CST meetings at a rate of \$80.00 per hour, not to exceed \$480.00.

Recommend approval of <u>Michele Sayre</u> (general education) and <u>Debra Kehoe</u> (special education) to participate in one IEP meeting each with Elementary School CST at a rate of \$50 per hour/meeting, not to exceed \$50.00 each.

Recommend approval of the *revision* of <u>Megan Dullea</u> (special education) to participate in three IEP meetings with Elementary School CST at a rate of \$50.00 per hour/meeting each, not to exceed \$150.00. (*previously approved for 1 hour on 7/21/2020*)

Recommend approval of the *revision* of <u>**Kindle Kuriscak**</u> (special education) for **5 hours/meetings** at a rate of \$50.00 per hour to participate in Elementary School CST meetings, not to exceed \$250.00. (*previously approved for 3 hours on 7/21/2020*)

Leave of Absence

Recommend approval of the request for **TCH.MS.ENGL.08.02** (4119) to take a paid Medical Leave of Absence during the period of September 28, 2020 – November 28, 2020 (41 sick days).

HIGH SCHOOL PERSONNEL

THE CHIEF SCHOOL ADMINISTRATOR RECOMMENDS THE FOLLOWING HIGH SCHOOL PERSONNEL TO THE BOARD OF EDUCATION:

2020-2021 Staffing

Recommend approval of the appointment of <u>Amanda Waldron</u>, TLR.HS.LTRT.FL.02, as a High School Guidance Counselor, (long-term substitute - 4388), beginning on or about September 3, 2020 through on or about November 20, 2020 at \$100.00 per diem for the first 20 working days and \$110.00 per diem thereafter.

Recommend approval of the 2020-2021 school year substitute and home instructor list, as per Document M-1.

Recommend approval of the following non-negotiated stipend position appointments for the 2020-2021 school year:

Position	Employee	Stipend Amount
Affirmative Action Officer	Donald Bramley	\$3,105.00
Eighth Grade Transition Coordinator	Lauren Saliski	\$5,000.00

<u>Mentor</u>

Recommend approval of the following stipends and mentor assignments for the 2020-2021 SY: monies will be payroll deducted from mentees in order to pay mentors – all mentors will be paid in the June 2021 payroll – prorated, if necessary.

Provisional Teacher	Mentor	Stipend
Soliman, Mona (CEAS)	Meghan Hillman	\$257.00 (14 weeks)
Galano, Melissa (CE)	Nicole Pagano	\$571.00 (17.13 weeks)

Additional Compensation

Recommend approval of the following Central Office Staff Member(s) to perform clerical responsibilities atPublic Board of Education Meetings for the 2020-2021 school year at a stipend of \$32.50 per hour:Sandra FreemanAlternates: JoAnn Dietrick and Tara Hudson

Recommend approval of the following to provide additional carpentry services in the Manasquan School District for 200 hours each at **\$30.00 per hour**:

- Ryan Graf
- Jason Snyder

Recommend approval of the following *revision* of additional compensation (*previously approved on 7/21/2020*):

Position/Purpose	Employee	Compensation	Time Period (Not to Exceed)
Security	Timothy Clayton	\$42.44 / hr	66 hours
Technology	Frank Scott	\$68.08 / hr	40 hours

DOCUMENT M

Recommend approval of the following *revision* of additional compensation (*previously approved on 6/16/2020*):

Position/Purpose	Employee	Compensation	Time Period (Not to Exceed)
Guidance Counselor	Lauren Saliski	\$50 per hour	86 Hours

Recommend approval of the following to facilitate Freshman Orientation on September 1st and 2nd for a total of 8 hours each at \$50.00 per hour:

- Erich Hoffman
- Alicia Narucki

Recommend approval of the *revision* of **AnnMarie LaMorticella** to translate for **10 hours**/IEP meetings at a rate of \$50.00 per hour/meeting, not to exceed \$500.00. (previously approved for 5 hours on 7/21/2020)

Recommend approval of the *revision* of <u>Jill Santucci</u> (general education) to participate in two IEP meetings with High School CST at a rate of \$50.00 per hour/meeting each, not to exceed \$100.00. (previously approved for 1 hour on 7/21/2020)

Recommend approval of the *revision* of **Geniene Podos** (special education) for **7 hours/meetings** at a rate of \$50.00 per hour to participate in High School CST meetings, not to exceed \$350.00. (previously approved for 3 hours on 7/21/2020)

Recommend approval of the *revision* of <u>Megan Voorhees</u> (general education) for 10 hours/meetings at a rate of \$50.00 per hour to participate in High School CST meetings, not to exceed \$500.00. (previously approved for 6 hours on 7/21/2020)

Leave of Absence

Recommend approval of the request for **PARA.HS.AIDE.NA.07** (4374) to take a leave of absence from on or about $\frac{9}{3}/2020$ through on or about $\frac{03}{04}/2021$ with an expected return date of on or about $\frac{3}{5}/2021$ as follows:

- Emergency Paid Sick Leave 9/3/2020 through 9/18/2020 (using 10 days)
- Accumulated Paid Sick Leave 9/21/2020 through 11/19/2020 (using 42 accumulated sick days)
- Unpaid Federal Family Medical Leave 11/20/2020 through 3/4/2021 (60 unpaid work days) •

2020-2021 Pay Rates

Recommend approval of the daily pay rate per day for substitutes for the 2020-2021 school year:

Teachers	\$100.00/day
Teachers (over 20 days in same assignment)	\$110.00/day
Nurse	\$150.00/day
Paraprofessionals	\$11.00/hour
Paraprofessionals	\$12.00/hour (Effective 1/1/2021)
Secretaries	\$11.00/hour
Secretaries	\$12.00/hour (Effective 1/1/2021)
Custodians	\$13.00/hour
Athletic Trainers	As per fee schedule
August 13, 2020	Page 2 of 3

DOCUMENT M

Recommend approval of the following pay rates for school sponsored events *for school personnel* for the 2020-2021 school year:

<u>Ticket Sellers</u> - \$70.00 <u>Ticket Takers</u> - \$65.00 <u>Security</u> - \$65.00 <u>Clock Operators</u> - \$60.00 Public Address Announcer for Varsity Football and Varsity Basketball Games - \$65.00

Recommend approval of the following pay rates *for non-staff* at school sponsored events for the 2020-2021 SY:

<u>Ticket Sellers</u> - \$55.00 <u>Ticket Takers</u> - \$50.00 <u>Security</u> - \$50.00 <u>Clock Operators</u> - \$45.00 <u>Public Address Announcer for Varsity Games</u> - \$50.00

Athletics/Addendum "C" Advisors

Recommend approval of the appointment of <u>Autumn Sterner</u> as a High School One-to-One Special Education Paraprofessional for Athletics for the 2020-2021 school year (as needed) for Student #6796940236 at a paraprofessional hourly rate of Step 2 - \$22.05 per hour.

Substitute List 2020-2021 SY

Name	Certified Teacher	Paraprofessional	Secretary	Custodian	Nurse
Black, Gina	Х	Х	Х		
Bertinelli, Mario	Х				
Bontales, Alaina					Х
Bossone, Patricia	х				
Brennan, Daniel	х				
Brown, Patricia	х				
Brundage, Brian	х	Х			
Bryant, Cory	х				
Cade, Donna	Х				
Cassidy, Kathleen	Х				
Cheer, Margaret	Х				
Chlan, Kathleen	Х	Х			
Cosgrove, Kelly	Х				
Cunningham, Sean	Х	Х	Х		
D'Agostaro, Maria	Х				
Daly, Gregory	Х	Х	Х		
Dietrick, Sydney	Х	Х	Х		
Dropchinski, Michael	Х	Х			
Ertle, Erik	Х	Х			
Ferrante, Robert	Х	Х	Х		
Ford, Jo Ellen	Х				
Frese, Thomas	Х			Х	
Goepfert, Rita	Х	Х			
Grecsek, Holly	Х	Х	Х		
Griffith, Richard	Х	Х	Х		
Heenan, James	Х	Х			
Homan, Keara	Х	Х			
Hordeman, Diane				Х	
Jackwicz, Kelly	Х	Х	Х		
Kelly, William	Х				
Kinsberg, Barry	Х				
Kuper, Jeremy	Х	Х			
Lancaster, Thomas	x				
Loffredo, Matina	Х				
Mangione, Deborah	x		Х		
McGowan, Carolyn	Х				
McMullen, David	X				
Meehan, Eve	x				
Mele, Patricia	x		Х		
Morris, John	х	Х			

Moynihan, Laureen	Х				
Monaghan, Maryann	Х				
Neiberlien, Lynn					Х
O'Boyle, Tessa	Х	Х			
O'Brien, Robert	Х				
Paul, Barbara	Х	Х	Х		
Passes, Carolyn					Х
Pichetto, Nicole	Х				
Read, Molly	Х	Х	Х		
Read, Michaela	Х				
Roman-Sarmiento, Nestor				Х	
Rooney, Amy	Х	х	Х		
Ruszczyk, Walter				Х	
Sanders, Lee	Х				
Sandilands, Robert	Х				
Schiller, Susan					Х
Schramm, Sanda	Х	Х	Х		
Schultz, Nicholas	Х				
Schwartz, Steven	Х				
Schwier, Harmony	Х				
Skubon, Patricia	Х	Х	Х		
Slliwoski, Kristine	Х				
Soliman, Mona	Х				
Sorino, Louisa	Х				
Sorrentino, Michaela	Х	Х	Х		
Spalt, Jennifer	Х				
Stewart, Jill	Х	Х			
Styslinger, John	Х				
Styslinger, Thelma	Х				
Sutor, Paul	Х				
Tassini, Katherine	Х	Х	х		
Temple, Julie	Х				
Tilton, Jenna	Х	Х	Х		
Waldron, Amanda	Х				
Wall, Laura	Х		Х		
Ward, Judith	Х				
Ware, Andrew	Х				
Whelan, Elvia			Х		

Home Instructor List 2020-2021 SY

Name	Certified Teacher
Ali McHugh, Karen	Х
Bates, Flora	Х
Borowsky, Nancy	Х
Condon, Gail	Х
Gilligan, Paula	Х
Hardie, Karen	Х
Joyce, Vincent Jerry	Х
Lawler, Alice	Х
Mangione, Deborah	Х
Martin, Roberta	Х
Ryan, Kathleen	Х
Shea, Anne	Х